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Example 1 Horitondtall
Find the standard form equation for the parabola with a focus at (-3, 2) and a directrix at y = 4.
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Example 2 :
Find the standard form equation for the parabola with a vertex at (0, 0) and a directrix at y =—4. \\evi xontal)
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Example 3 A ,
Find the standard form equation for the parabola with a focus at (-6, 4) and a directrix at x =2, Vi v~ <o\
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Example 4
Find the standard form equation for the parabola with a 10
focus at (6, 2) and a vertex at (3, 2). p= 3 sl
Ver 4 e\ s
X= &S 4
of vp
% s s, L\é"‘\l—“# (x-3) -__1,.(\3,2\’- N NN L R
L\P V2. I
‘ -4F
el S
Bk
ok




Example 5

Find the vertex, focus & directrix for X—2=
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Example 6
Find the vertex, focus & directrix fory — 4 = —(X - 1)2 .
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Example 7
Graph the parabola and label the vertex, focus and directrix.
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